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Name _________________________
Chem 332 – O’Dette






Date ________________ Period ___
What is stoichiometry?
Law of Conservation of Mass
· No change in total ___________ occurs in a reaction.

· Mass of ____________ is equal to mass of _______________.
Mole Ratio
· A conversion factor that relates the _______________ in moles of any two substances in a reaction.
· Use the _________________ in a balanced equation.
Mole Ratio Conversion Factors
· Balance the following equation  
_____ NH3 +  _____ O2            _____ NO  +  _____ H2O
· Examples of Mole Ratios

Steps for Solving Stoich Problems
1. Write a correctly balanced chemical equation.

2. If you are given moles skip to step 3, otherwise convert to moles.  If you are given

· mass, use molar mass

· volume, use density then molar mass

· particles, use Avogadro’s number
3. Convert using a mole ratio into the moles of substance that you are asked to find.

4. If the problem asked to find moles stop here.  If it asks to find mass, volume, or particles convert using the appropriate conversion factor listed above.
Mole – Mole

Example #1: Suppose we have 12 moles of Al2O3, how many moles of Al and O2 are produced?

2Al2O3    
       4Al      +     3O2 
Mole – Mass

Example #2: How many grams of chlorine are required to react completely with 5.00 moles of sodium to produce sodium chloride?

Mole - Volume
Example #3:  Sulfuric acid, H2SO4, reacts with calcium hydroxide in a double replacement reaction.  What volume of 5 M H2SO4 would be needed to produce 3 moles of water?
Volume – Mole 

Example #4: When 500 mL of 2 M Na3PO4 is reacted with excess BaCl2, how many moles of sodium chloride would be formed?    
Molecule – Mole
Example #5: Calculate the number of moles of ethane (C2H6) needed to produce               2.0x1025 molecules of water; assume ethane undergoes a combustion reaction.
Mass - Mass

Example #6: Tin (II) fluoride, SnF2, is used in some toothpastes.  It is made by the reaction of tin with hydrogen fluoride according to the following equation.

Sn  +  2HF
     SnF2 + H2
How many grams of SnF2 are produced from the reaction of 30.00 g HF with Sn?

